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Function0l Answers for No.9004

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

AnSZ—[ A={(-2,19),(-1,1),(0,-5),(1,1),(2,19),(5,145)} }
TL2=((-2,3), (-1, 10%1/2)), (0, 11°(1/72) ), (1,2*31/2) ), (2, 13%1/2) ), (5, 4) ]

Ansl =

]{sz{xu:/:s}}
S R={yly=/=0}
2=13 .hﬁfzmxjgﬂ
_ _n ion" ={x|x>=
Ans3 = j;i > Ans4:[:é;,,: EEEEEZE“}’ , Ansd = D, = Sfetoi‘alllRealnumber
5=0 :{ R={yly>=-1} }
L.6=-3+h] D={x|x>=-2)
o :{R,-={y|y<=0}}

Ans6:(Rf: {x|-12<=x<37})
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Function0Ol Answers for No.9033
.1 ="a Function"
.2="NOT a Function"
Ansl = " o
.3 ="a Function
.4 ="NOT a Function"

P 2_[.1 =0 (-5,3), (-3, 1IN1I/2)), (-1, 1371/2) ), (0, 14~1/2) ), (1, 15%1/2) ), (5, 19A(1/2))}}
nse= 2={(-5,70),(-3,22),(-1,-2),(0,-5),(1,-2),(5,70)}

; [Df:{x|x>=]}}
_ - N R.= >=
.2 = undefined _ [Df: {x|x=/=1}
3=8 .1 ="a Function" R={yly=/=0}
Ans3 = 4=-1 D ) Ans4 = |:2 —"a Functionn:|9 5 Ans5 = |:Df: Set Ofa” Real number}

.éiiz B 59::{y|}7<=:2}
6= i [Df:{x|x<=0}}
R={y|y<=0}

Ans6 = (R,={x|-7<=x<29})
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Function0l Answers for No.9237
.1 ="a Function"

.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

Ans2—[ A={(-2,13),(-1,1),(0,-3),(1,1),(2,13),(4,61)} }
CL2={(-2,2%371/2) ), (-1, 13N1/2)), (0, 141/2) ), (1, 1571/2)),(2,4),(4,3*2N1/2) )}

; {Df {x|x<= 0}}
[ I=-11 ] R={yly<=0}
2 = undefined ” o S sz jx ’| x :i j ﬂ
Ans3 = j:_ -_173 oo Ansd= [ 2 ':1"1_\102}1:; I;i[;?:?ion"}’ , Ans3 = [sz Sfet ofJ;ZIJ;?eal number}
S5=-13 = _ _
=0 ]f;: {{i ||i=/=21}}
L {Rf={y|y=/=0}}

Ans6 =(R,={x|-6<x<=10})
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Function0l Answers for No.9286
.1 ="a Function"

Ans] — .2="NOT a Function"
.3="NOT a Function"
.4 ="a Function"
Ans2:['1 ={(-3,2%2%1/2) ), (-2,3),(-1,10N1/2)), (0,11 (1/2)), (2, 13~1/2)), (3, ]4%1/2))}}
2={(-3,41),(-2,16),(-1,1),(0,-4),(2,16),(3,41)}

]_{sz{x|x>= 0}}
T =4 ] R={yly<=0}
= ‘undeﬁned 5 {Df: Set of all Real number

3=2 .1 ="NOT a Function" o R={yly>=3}
Ans3 = 4=-3 o> Ansd _[ .2 ="a Function" }’ , Ans3 = 5 [Df: {x|x=/=1 }}
S=-2 ' _Rf:{y|y=/=0}
6=h | {Df:{x|x>=—3}}

. R={yly>=0}

Ans6:(Rf:{x|-54<x<= 10})
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Function0l Answers for No.9604

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

p 2_[.1:{(-3, 2%301/2) ), (-1, 1451/2) ), (0, 15M1/2) ), (1,4), (2, 17%1/2) ), (3, 3*2A(1/2))}}
8= 2={(-3,49),(-1,9),(0,4),(1,9),(2,24),(3,49) ]}

Ansl =

, {Df:{x|x>=l}}
T R={yly>=0)
2=3 :{Df:{x|x>=0}
3=1 .1 ="NOT a Function" R={yly<=0}
Ans3 = 4 =undefined | Ansd _[ .2 ="a Function" } , Ans3 = D={x|x=/=-1}
S=10 B R={yly=/=0}
.6 = undefined
- - {Df: Set of all Real number}
L R=E{yiy>=1}

Ans6:(Rf:{x|-53<x<= 11})
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Function0l Answers for No.9635

.1 ="NOT a Function"
Ans] — .2 ="a Function"
.3="NOT a Function"
.4 ="a Function"
Ans2:[ A={(-4,29),(-3,15),(-1,-1),(0,-3),(3,15),(4,29)} }
2={(-4,1IN172)), (-3,2*%3~1/2)), (-1, 14"1/2)), (0, 1571/2)), (3,3*21/2)), (4, 19°(1/2)) }

D ={x|x>=0}
o =[Rf={y|y<=0}}
2-1 Sl
Ans3 = .4:'5n;le;ined 7 Ans4=[:é;"2 EEEEEZE"}’ , Ans3 = D, = Sfet o{fya‘lly Real number
S=-11 7= R={yly>=-2] }
L.6 = undefined | D,={x|x>=1]
'4:{Rf= {yly>= 0}}

Ans6:(Rf:{x|-69<x<= 12 })
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Function0l Answers for No.9770

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

) 2_[ A={(-4,50),(-3,29),(0,2),(3,29),(4,50),(5,77)} }
T 2204, 10M1/2) ), (-3, 1IN1/2) ), (0, 1451/2) ), (3, 17N1/2) ), (4, 3%271/2) ), (5, 19%(1/2) ) }
[ {Df: Set of all Real number]

[ =6 ] - R={yly>=1]}

2=-6 Zz{sz{xm:/:-J}

3=-2 .1 ="a Function" ' R={yly=/=0}

Ans3 = 4=4 | AnS4_[2="NOTaFunction"}’ , AnsS = D={x|x>=1}

S5=-13 3= Rf:{y|y>=0}

6=—h—14
B | [Df: {x|x>= 0}}
L [R=E{yly<=0}

Ans6 = (R,={x|-28<x<=8})
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Function0Ol Answers for No.9799
.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

AnSZ—[ A={(-5,121),(-4,76),(-1,1),(0,-4),(1,1),(4,76)} }
TL2={(-5,6M12)), (-4, 751/2) ), (-1, 101/2) ), (0, 11%1/2) ), (1,2%3%(1/2) ), (4, 15(1/2)) }

Ansl =

; {Df:{x|x>=0}}

" =] CR={yly<=0}
2=-7 P Df:{x|X>:'2}

3=-7 .1 ="a Function" T LR={yly>=0}

Ans3 = A4=-17 AnS4:[2="NOTaFunction”}’ , Ansd = {sz SetofallRealnumber}

5=-3 L R={yly<=-1}
.6 =—h. [Df: {x|x=/=3}}

| R={yly=/=0}

Ans6 = (R,={x|-7<=x<57})
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Function0l Answers for No.9824

.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

P 2_[.1:{(-5, 6°1/2)), (-2,3), (0, 1IN1/2) ), (2, 13%1/2) ), (4, 15%1/2) ), (5, 4)}}
nse= 2={(-5,97),(-2,13),(0,-3),(2,13),(4,61),(5,97)}

]{sz{x|x>=0}}

Ansl =|°

1=8 sz{y|y<:0}
:2 —5 :{Df:Set of all Real number
3=-2 .1 ="a Function" R={yly>=-2}
Ans3 = 4=27 7 Ansd = [2 ="NOT a Function"}’ , Ans3 = D={x|x=/=3}
S5=2 _Rf:{y|y=/=0}
L.6=0

- 4:{Df={x|x>=—2}}
L R={yly>=0}
Ans6:(Rf:{x|—28<x<=8})
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Function0l Answers for No.9853

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

Ansl =

4 2_[ A={(-5,105),(-3,41),(-2,21),(0,5),(2,21),(5,105)} }
S {(-5,2%2N1/2) ), (-3, 101/2) ), (-2, 1IN1/2)), (0, 13N1/2) ), (2, 15N1/2) ), (5, 3*2(1/2) ) }
]{sz{x|x>=0}}
T 7=-10 | R={yly<=0}
'.2 — 4 {Df: Set of all Real number
3=4 .1 ="a Function" - R={yly<=2}
Ans3 = 4 =undefined | An54_[2="NOTaFunction"} , Ans>= 3 D={x|x>=-2}
5=2 TOLR={yly>=0]
L.6 = undefined ) {Df: {x|x=/= _2}}
i R={y|y=/=0}

Ans6:(Rf: {x|-11<=x<38})
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Function0l Answers for No.9936
.1 ="a Function"
.2="NOT a Function"

Ansl = .3 ="a Function"
.4 ="NOT a Function"
4 2_[ A={(-3,22),(-2,7),(0,-5),(1,-2),(2,7),(3,22)} }
o= 2={(-3,3),(-2,10Y1/2)),(0,2*3N1/2)),(1,13~1/2)),(2,141/2)), (3, 151/2))}
i {szmx —-3}} ]
[ 7=0] - RfZ{ylyZ/:O}
-0 _ {sz Set of all Real number
3=6 I ="a Function" R={yly<=3}
Ans3 = 4=101 ~ Ansd = [2 aFunctlon} , Ansd = D={x|x>=0}
S5=10 B R={x|x>=0}
L.6=0
:{Df={x|x>=-2}}
i R={yly<=0}

Ans6 = (R,={x|-29<x<=7})
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Function0l Answers for No.10029

.1 ="NOT a Function"

.2 ="a Function"
.3="NOT a Function"

.4 ="a Function"
AnsZz[ A={(-5,47),(-4,29),(-1,-1),(0,-3),(1,-1),(4,29)} }
2={(-5,3),(-4,10N172)), (-1,13~1/2)), (0, 14~1/2)), (1, 151/2)), (4, 3*21/2) ) }
i ]z{Df:{x|x=/=3}} ]

R={yly=/=0}

Ansl =

- 1=0
2=0 5 D;={x|x<=0/}
3=4 [1:”a Function"} T R={x]x>=0/
Ans3 = ' Ansd =| : Ans5 =
3 .4 = undefined | > Ansé .2 ="a Function" [ » Anss 5 [Df: {x|x>= -2}}
D=2 TLR=tyly<=0}

L.6 = undefined | {D = Set of all Real number}
R={yly<=-1}

Ans6:(Rf: {x|-10<=x<54})
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Function0l Answers for No.11015

.1 ="a Function"
Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"

.4 ="a Function"

dA={(-5,6%1/72)), (-4, 7A(1/2)),(—2,3),(0,11’\(]/2)),(4,]5%1/2)),(5,4)}}

A”Sz:[ 2={(-5,71),(-4,44),(-2,8),(0,-4),(4,44),(5,71) ]

i ; {Df:{x|x==-2}}
_ _ T R= =/=0
.2 = undefined I [Df: {x|x>=-1}
3=3 .1 ="NOT a Function" . R={yly<=0}
Ans3 = 4=11 5 5 Ans4 —|: 2 = "4 Function" }: ) AnsS5 = ; {Df: Set Ofal] Real number:|
.56=_101 Tl R={yly<=-2}
YT - Df:{x|x<=0}
L [RE{x]x>=0}

Ans6 = (R,={x|-56 <x<=8})
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Function0l Answers for No.11124

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

P 2_[.1:{(_5, 67°(1/2) ), (-3, 2%27(1/2) ), (0, 1IN1/2) ), (1, 2*%351/2) ), (3, 14%1/2) ), (5, 4)}}
o= 2={(-5,123),(-3,43),(0,-2),(1,3),(3,43),(5,123)

Ansl =

} {Df:{x|x>=]}}
_ :_6— - Rf:{y|y>:0}
s [Botale<)
=-4 I ="NOT a Function" o R={yly<=0}
Ans3 = 4=0[ Ans4:[ .2 ="a Function" } » Ans3 = [Df: {x|x=/= '3}}
S=- LR={yly=/=0]}
.6 =—h {D = Set of all Real number}
L R={yly>=1)

Ans6 = (R,={x|-27<x<=9})
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Function0l Answers for No.11785

.1 ="a Function"
2 ="NOT a Function"

Ansl= .3 ="a Function"
.4 ="NOT a Function"
e d={(-5,131),(-1,11),(0,6),(1,11),(4,86),(5,131)]
L2={(-5,3),(-1,13N1/2)), (0, 14~1/2)), (1, 15Y1/2)), (4,3*21/2)), (5, 19~1/2)) }
i [sz {x|x>=-1}} ]
e lr=ryiy<=0)
-4 S [Df.:];S'et o{fa|ll Real Zu;nber}
3=-1 .1 ="a Function" ={yly=>=-
Ans3 = 4 = undefined| ~° Ansd :[2 ="a Function"}’ , Ansd = {Dj;— {x]|x=/= 1}}
S5=-5 _Rf:{y|y=/=0}
L.6 = undefined | D,= {x]|x>=0)
:[R_'f:{x|x>=0}}

Ans6:(Rf: {x|-12<=x<69})
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Function0l Answers for No.11787
.1 ="a Function"
Ans] — .2 ="NOT a Function"
"E=1 3= "NOT a Function"

.4 ="a Function"

A={(-5,121),(-4,76),(0,-4),(2,16),(4,76),(5,121)} }
}

AW:[z: {(-5,2%21/2)), (-4,3), (0, 13%1/2) ), (2, 15%1/2) ), (4, 171/2) ), (5, 3*2/(1/2) )

; {sz {x|x>= -z}}

T 27 ] LR={yly<=0}
2=4 2:[D‘,:{XIF/:—Z}
3=4 .1 ="a Function" R={yly=/=0}

Ans3 = 4 =undefined | Ansd = [2 ="NOT a Function"} , Ans3 = 5 [sz Set of all Real number}
5=6 Tl R={yly>=-1}

.6 = undeﬁned_ Df: {x | x >= 0}

i R={x]|x>=0}

Ans6:(Rf: {x|-12<=x<37})
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Function0l Answers for No.11852

.1 ="a Function"
Ans] — .2="NOT a Funct%on"
.3 ="NOT a Function"

.4 ="a Function"

s — [1 ={(-5,2%271/2) ), (-3, 1071/2) ), (-1, 2*3~1/2)), (0, 13~1/2) ), (1, 14~1/2) ), (5, 3%27(1/2) )

2=4(-5,119),(-3,39),(-1,-1),(0,-6),(1,-1),(5,119)} }}
i {sz {x|x=/=-3 }}
L o R=tyly==0;
.2 = undefined 5 [?;2 ifx |’x >= -01}}}
_ _n Y = <=
Ans3 = j:é o A”“’:[z ;I"NSTF;I;;Z?ion"}’ , Ans3 = Dj,: {Z|Z>= 0;
5=-5 '3{Rf:{x|x>=0}}
6=-2h {Df: Set of all Real number}
L R={yly<=-2}
Ans6:(Rf:{x|—72<x<=9})
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Function0l Answers for No.11898

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

p 2_[ d={(-5,103),(-4,67),(-3,39),(0,3),(3,39),(5,103)} }
M 2= (-5, 101/2) ), (-4, 1IN1/2) ), (-3, 2%37(1/2) ), (0, 1571/2) ), (3, 3%251/2) ), (5, 2*57(1/2) ) }

]{Df: {x|x>= 0}}
4T O R={yly<=0}
2=-4 | '2:[11){,; {{x I‘x=//= -01}}}
Ans3 = j ; 8 , , Ans4= [ 5 ;1"_N (?TF:I;(E;Z%OH,}, , Ans5 = ] {Df: Sfez ofyally Real number }
5=-3 D= _ o
yerrry
4:[Rf={y|y>= 0}}

Ans6:(Rf:{x|-70<x<= 11})
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Function0l Answers for No.11909
.1 ="a Function"

.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

) 2_[ d={(-5,129),(-3,49),(-2,24),(0,4),(3,49),(5,129) }
T L2250 12) ), (-3, 10N1/2) ), (22, 11(1/2) ), (0, 1351/2) ), (3, 4), (5, 3%2(1/2) ) }
I {Df:{x|x=/=2}} |
] =

R={yly=/=0}

d=1 ]
2=0 '2:[Df={XIx>=—3}}

3=-3 .1 ="a Function" R={yly>=0}
A = A = ) A =
ns3 4 =undefined | 54 [2 ="a Functlon"} > Ans {sz Set of all Real number}
S=1 L R={yly>=1}

L.6 = undefined | _[Df: {x]|x<= 0}}
R={yly<=0}
Ans6 = (R.={x|-68 <x<=13})
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Function0l Answers for No.11944

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

4 2_[ A={(-5,97),(-2,13),(0,-3),(2,13),(4,61),(5,97)} }
S {(-5,10M172)),(-2,13N1/2) ), (0, 151/2) ), (2, 17N1/2)), (4, 19%1/2) ), (5, 2*51/2) ) }
]z{Df:{x|x=/=2}}
T -6 R={yly=/=0}
.2 = undefined 2:[Df:{x|X>:0}
3=-4 .1 ="a Function" ' R={x[x>=0}
Ans3 = 4=-6 5 , Ans4 = |:2 g Function"}’ , Ansjy = ; |:Df: Set Ofal] Real number}
35:4-1h Tl R={yly>=-2}
6=4+h | :[Df:{x|X>:'2q
O LR={yly<=0)

Ans6 = (R,={x|-7<=x<74})
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Function0l Answers for No.11961

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

Ans2 = [ A={(-5,105),(-1,9),(0,5),(1,9),(4,69),(5,105)}
e=lo= {(-5,6N172)),(-1,1071/2)),(0,11~172)), (1, 2*3/\(1/2)) (4,15%1/2)), (5, 4)}
_[D {x|x<= 0}}
[ 1=16] _Rf:{y|y<:0}
2=10 2{Df={x|x>=—1}}
3=2 .1 ="NOT a Function" ' R={yly>=0}
Ans3 = A4=1[ Ans4:[ .2 ="a Function" }’ > Ansd = _{sz {x|x= —-2}}
5=1 “LR=ty1y=~0;
L.6=0 ~ {Df: Set of all Real number}
L R={yly<=3}

Ans6 = (R,={x|-9<=x<72})
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Function0l Answers for No.11966

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

p 2_[ d={(-3,33),(-2,13),(0,-3),(2,13),(3,33),(5,97)} }
M= 2=y (-3,10M12) ), (-2, 11N1/2) ), (0, 13%1/2) ), (2, I1551/2)), (3, 4), (5, 3%2%1/2) ) )

]_{Df:{x|x=/=-3}}
'2 —3 {Df: Set of all Real number
3=4 .1 ="NOT a Function" - R={yly<=-2}
Ans3 = 4=10 Ans4—[ .2 ="a Function" }’ , Ansd = ; [Df: [x|x>= -]}}
5=16 L R={yly<=0]
L.6=2h] . D={x|x>=0}
i C|R={x[x>=0}
Ans6 = (R,={x|-11 <=x<3})
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Function0l Answers for No.12024

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

AnSZ—[ A={(-5,55),(-3,23),(-1,7),(0,5),(1,7),(5,55)} }
CL2={(-5.3),(-3,11(1/2) ), (-1,131/2)), (0, 14N1/2) ), (1,15~1/2)), (5, 19°(1/2)) }
]Z{sz{x|x>=-2}}
=4 ] R={yly<=0}
2=-1 ZZ{D,F{XIK:O}
3=-2 .1 ="a Function" ' R={x|x>=0}
Ans3 = 4 =undefined | An54_[2="NOTaFunction"} , Ans3 = D={x|x=/=3}
S5=-6 _Rf:{y|y=/=0}
.6 = undefined
- - {Df: Set of all Real number}
L R={yly<=-2}

Ans6:(Rf:{x|-25<x<= 11})
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Function0l Answers for No.12045
.1 ="a Function"

Ans] — .2="NOT a Function"
.3="NOT a Function"
.4 ="a Function"
AnsZz[ A={(-5,105),(-3,41),(0,5),(2,21),(3,41),(5,105)} }

2={(-5,107172) ), (-3,2*%31/2)), (0, 151/2)), (2, 17N1/2) ), (3,3*2N1/2)), (5, 2*51/2) )}
i ]{sz{x|x>=3}} ]
R={yly<=0}

d=1
21 {Df: Set of all Real number
3=3 .1 ="a Function" - R={yly<=3}
Ans3 = 4=7 | Ansd = [2 ="NOT a Function"}’ , Ans3 = ; D={x|x=/=3}
S5=-5 TR ={yly=/=0]}
[ 6=—8—2h. D~ fx[x>=0)
i R={x][x>=0}

Ans6:(Rf:{x|-]] <=x<14})
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Function0l Answers for No.12623

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

Ans2:['] ={(-2,2%¥3N1/2)), (-1,13%1/2)), (0, 14~1/2)),(1,15%1/2)),(2,4), (4, 3*2%1/2))}}
2={(-2,11),(-1,-1),(0,-5),(1,-1),(2,11),(4,59)}

i /- {Df: Set of all Real number}_
C -19 R={yly<=3}
.2 = undefined o= R)Qf: {x]x ><: _03}}}
Ans3 = .4:.5n;’ej‘ined’ ’ Ans4=[:é;"2 EEEEEZE"}’ , Ans> = Dj;z i); ‘|);<= 0}
5-4 3:[Rf:{x|x>=0}}
L.6 = undefined | D,={x|x=/=-3}
:[R;:{yly:/:O}}

Ans6 = (R,={x|-73<x<=8})
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Function0l Answers for No.12915
.1 ="NOT a Function"

.2 ="a Function"
.3 ="NOT a Function"

.4 ="a Function"
AnsZz[ d={(-4,46),(-3,25),(0,-2),(2,10),(3,25),(4,46)} }
2={(4,2%2)1/2)), (-3,3),(0,2*%371/2) ), (2, 14X1/2) ), (3, 15Y1/2) ), (4, 4) }

Ansl =

; {Df:{x|x>=]}}
[ 1=-10 ] R={rvly<=0)
2 = undefined 2:[1)-’: Set of all Real number
3=-4 .1 ="a Function" . R={yly<=1}
Ans3 = 4=-4 7 AnS4_[2="a Function"}’ , Ansd = D={x|x>=0}
S5=-8 CR={x|x>=0}
6==2h
- {Df: {x|x=/=3}}
R={yly=/=0}

Ans6 = (R,={x|-72<x<=9})
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Function0l Answers for No.13089

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

e _[.1 =105, 7N12) ), (<2, 10N1/2) ), (-1, TIN1/2) ), (0, 2%351/2) ), (2, 1451/2) ), (5, 17A(1/2))}}
nse= 2={(-5,123),(-2,18),(-1,3),(0,-2),(2,18),(5,123)}
]:{Df:{x|x>=0}}
_ 1:7_ Rf:{y|y<:0}
:2 —7 {Df: Set of all Real number
3=3 .1 ="NOT a Function" - R={yly<=-2}
Ans3 = A4=11] Ans4—[ .2 ="a Function" }’ , Ansd = {Df: {x|x>=2}}
5=17 | R={y|y>=0]
_.6:2h_ [Df:{x|x:/:—3}:|
| LR tyiy=~0)

Ans6:(Rf:{x|-]2<x<= 13})
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FunctionOl Answers for No.13101
.1 ="a Function"
.2="NOT a Function"
Ansl = " .
.3 ="a Function

.4 ="NOT a Function"

P ‘2_[J:={(-5,2*2N7Ay),(13,IOAUAQ),(ZZ,JIAUAD),(O,ISAHAQ),(2,15AUAD),(5,3*2N7&D)5}
e= 2={(-5,131),(-3,51),(-2,26),(0,6),(2,26),(5,131)}

} F%:{XLX%E3}}
o] O R={yly=/=0)
2=0 oo i lr=m0)
3=6 1 ="NOT a Function" T R={y|y<=0}
Ans3 = 4=-17 Ansd :[ .2 ="a Function" }  Ansd = D={x|x>=1}
5=-3 | R={yly>=0]
6=—h
L. J {Df: Set of all Real number}
T R={yly<=2}

Ans6:(Rf:{x|-52<x<= 12})
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Function0Ol Answers for No.13155
.1 ="NOT a Function"
.2 ="a Function"
.3 ="NOT a Function"
.4 ="a Function"

e _[.1 =L (-5, 2%281/2) ), (<2, TIN1/2) ), (-1, 2%351/2) ), (0, 1351/2) ), (1, 14%1/2) ), (5, 3*2A(1/2))}}
8e= 2={(-5,145),(-2,19),(-1,1),(0,-5),(1,1),(5,145)]}

Ansl =

; {Df:{x|x>=0}}
SRR R={x[x>=0}
2=-1 5 D={x[x>=-2/}
3=7 [.I ="a Function"} T LR={yly<=0}

Ans3 = 4 = undefined | Ansd = .2="aFunction" [ ~’ Ans3 = {sz Set of all Real number}

6_.5=d-1 ) B sz{y|y>=-]}

L.6 = undefined {Df:{xle/:—.?}}

L R={yly=/~0}

Ans6:(Rf:{x|-7] <x<=10})
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Function0l Answers for No.13156

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

AnsZ—[ d={(-2,3),(-1,-3),(0,-5),(1,-3),(2,3),(3,13)] }
L2 (-2, 1INI2) ), (-1, 2%3%51/2) ), (0, 1371/2) ), (1, 14%1/2) ), (2, 15%1/2) ), (3, 4) }
i {sz{x|x=/=2}} ]
I=
R={yly=/=0}
2_{Df={x|x<=0}}
1:"NOTaFunction"} AnsS = - R={x|x>=0}
2="aFunction" [ > ™77 _[szSetofall Real number}
R={yly<=3}
L.6="h] _|:Df:{x|x>=—2}}
L R={yly<=0}

Ansl =

o
&~ &~

Il
1
[\

Ans3 =|" , , Ans4 = [

XN N~
Il

Il
> B~ =

Ans6 =(Ry={x|-74 <x<=7})
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Function0l Answers for No.13158

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

Ansl =

e _[.1 — L (-4, 1INL2) ), (-3, 2%37(1/2) ), (0, 15%1/2) ), (2, 1751/2) ), (3, 3*2%(1/2) ), (4, 19A(1/2))}}
me= 2={(-4,43),(-3,22),(0,-5),(2,7),(3,22),(4,43))

I{sz {x|x=/= -2}}

C g R={yly=/=0}
2=8 ZZ{D,F{XIP:O}
3=6 .1 ="NOT a Function" ' R={x|x>=0}

Ans3 = 4 =undefined | Ans4—[ .2 ="a Function" }’ , Ans3 = 5 [sz Set of all Real number}

6_:5123\ . T ig::{y|y3>=-1}

|.6 = undefined | :{Df:{x|X>:'l}}
i R={yly<=0}

Ans6 = (R,={x|-72<x<=9})
X [Page = 0031] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXXXKXKXKX XX KX KX KXXXKX KX KX XX KX KX KXKK KX KX KX KX KX KK KXKKKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXKX XXX XXX XKLL KKL XKL LKL KKK LXK KKK KKK KKK K KKKKKKKKKMS /2-6300401-00032XX

Function0l Answers for No.13203
.1 ="NOT a Function"

.2 ="a Function"

.3 ="a Function"
.4 ="NOT a Function"
AI’ZS2:|: A={(-4,46),(-2,10),(-1,1),(0,-2),(2,10),(4,46)} }
2={(-4,2*%2N1/2) ), (-2, 1071/2) ), (-1, 11"(1/2) ), (0, 2*3N1/2) ), (2, 14~1/2) ), (4,4)}
i {Df:{x|x<=0}} ]
] =

R={yly<=0}

Ansl =

o I=12 ]
.2 = undefined 22{[),.: {x|x>=-2)
3=3 .1 ="NOT a Function" . R={yly>=0}
53 4 = undefined | nsd [ .2 ="a Function" }’ > Ans 3 {Df: {x|x=/=-3 }}
S5=7 B R={yly=/=0}

L.6 = undefined | {D = Set of all Real number}
R={yly>=-1}

Ans6:(Rf: {x|-11<=x<70})
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Function0l Answers for No.13469

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

) 2_[ A={(4,77),(-3,42),(-1,2),(0,-3),(1,2),(4,77)} }
M o=y (-4,10712) ), (-3, 111/2) ), (-1, 1351/2) ), (0, 147(1/2) ), (1, I5X1/2) ), (4, 3%27(1/2) ) }

, {Df:{x|x>=0}}

C g0 R={x|x>=0}
2-0 _ {Df: Set of all Real number

3=4 .1 ="NOT a Function" R={yly>=-3}

Ans3 = 4 =undefined| ’ Ansd _[ .2 ="a Function" }’ > Ans3 = ; {Df: {x|x>= 2}}
S=9 T sz{y|y<=0}

L.6 = undefined {Df: {x|x=/=-3 }}
L TLR=tyly 0]

Ans6:(Rf:{x|-24<x<= 12 })
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